Unit 3.1: Greatest Common Factor
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problem where they want us to “undo” the distribution that has occurred. This process is
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There are many different types of factoring based on how much you would like to
“undistribute” an expression. Today we will be focusing on taking out the greatest common
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3) Factor the greatest common factor out of each expression.
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5) Describe what the greatest common factor is in your own words:
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If you are given four terms and are asked to factor, you may want to consider factoring by ‘-\
grouping. Factoring by grouping creates smaller groups within the problem.
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Before you start any kind of factoring, you should always look for a greatest common factor.

Steps to factoring by grouping:
i. Group the first two terms together and the | a) 4x2 + ZOXﬁ— 3xy — 15y
last two together.
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the GCF of the two remaining terms. - b) 3x3 — 6x% + 15x — 30
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remaining terms. Your polynamial is now
factored!
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